
BinConstraint

int sizeX

int sizeY

vector<StoreCost> deltaCostsX

vector<StoreCost> deltaCostsY

vector<Cost> costs

vector<Value> supportX

vector<Value> supportY

Supxyc

Value cst

StoreCost deltaCost

StoreValue deltaValueXinf

StoreValue deltaValueYsup

StoreCost deltaCostXinf

StoreCost deltaCostYsup

AbstractBinaryConstraint<T1,T2>

T1 *x

T2 *y

DLink *linkX

DLink *linkY

BTList

int size

DLink *head

DLink *last

Variable

string name

int inf,sup

ConstraintList constrs

StoreCost deltaCost

StoreCost maxCost

StoreValue maxCostValue

StoreInt NCBucket

DLink linkNCBucket

DLink linkNCQueue

DLink linkIncDecQueue

Domain

int initSize

Value distanceToZero

DLink *all

VariableWithTimeStamp

Variable *var

long timeStamp

int incdec

Solver

static Solver *currentSolver

Store *store

long long nbNodes

long long nbBacktracks

WeightedCSP *wcsp

Domain *unassignedVars

ToulBar2

int verbose

bool showSolutions

bool binaryBranching

externalevent setvalue

externalevent setmin

externalevent setmax

externalevent removevalue

externalevent setminobj

<EnumeratedVariable,EnumeratedVariable>
<Variable,Variable>
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Contradiction

WCSP

static int wcspCounter

int instance

StoreCost lb

Cost ub

vector<Variable *> vars

vector<Constraint *> constrs

int NCBucketSize

vector<VariableList> NCBuckets

Queue NC

Queue IncDec

Queue AC

Queue DAC

bool objectiveChanged

long long nbNodes

Store

EnumeratedVariable

Domain domain

vector<StoreCost> costs

StoreValue support

DLink linkACQueue

DLink linkDACQueue

IntervalVariable

StoreCost infCost

StoreCost supCost

Constraint

Queue

WCSPLink

WCSP *wcsp

int wcspIndex

WeightedCSP


